
SAP ABAP table VWPANAN {Asset master/asset master relationship}

VWPANAN

MANDT [CLNT (3)]

RANL1 [CHAR (13)]

RANL2 [CHAR (13)]

SARTBEZ [NUMC (3)]

GSART1 [CHAR (3)]

GSART2 [CHAR (3)]

T000

MANDT [CLNT (3)]
 VWPANAN-MANDT = T000-MANDT 

1

1

TWRF

SARTBEZ [NUMC (3)] VWPANAN-SARTBEZ = TWRF-SARTBEZ 
0..N

1
TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 VWPANAN-GSART1 = TZPA-GSART 
0..N1

 VWPANAN-GSART2 = TZPA-GSART 
0..N1

VWPANLA

MANDT [CLNT (3)]

RANL [CHAR (13)]

 VWPANAN-RANL1 = VWPANLA-RANL 

0..N

0..N

 VWPANAN-RANL2 = VWPANLA-RANL 

0..N

0..N


